ARBETSBLAD 18 L Grundvux 4 _J

Division med brak (ll1)
Berakna och svara i enklaste form.
1a1/—= b2/ —=
2a)—/E= b)3/1=
ko) S5 2
32— /2= b)él’lO:
6
4a)4/§= b) 1/ —=
5
5a)—/é= b)—/1=
4
6 a) — /4= b)—/3=
7a)7/1= b)4/2=
4
8 /2 222
10 5 5
9 a)— /4= b)£/2=
11
10a)3/i= b)1/i=
7 14 2 9
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ARBETSBLAD 18 L Grundvux 4 _J

Division med brak (111}
1
1 a)5 8 a)l-
a) a) 5
b) 8 )
5 b) 1=
2 a) — 9
4 1
1 9 a) —
b) 1= 18
3 3
3 b) o
30 11
8 4
1 10 a) —
b) — 5
12 X
b) 1=
4 a) 6E 8
3
3
b) 12
) 4
1
5 —
a) 5
1
b) 2=
) 2
5
6 _
2) 36
1
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1
b) 5=
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